m Multiply Polynomials

Goal - Multiply polynomials.

Multiply a monomial and a polynomial

Your Notes . 3(m.3 2
Find the product 3x3(2x3 — x2 — 7x — 3).
Solution
3x3(2x3 — x2 — 7x — 3)
= 3x3( ) —3x3( ) —3x¥ )= 3x3(_ )
m Multiply polynomials vertically and horizontally
Find the product.
a. (a2 — 6a — 3)(2a — 5) b. (362 — 2b + 5)(5b — 6)
Solution
Remember that the a. Vertical format:
termzs of (ja . 5) a2— 6a-3 Write the product
are Za and —o. H H
They are ot 22 — % 29 — 5 in vertical format.
and 5. - a’+ a+ Multiply by -
as — a2 — a Multiply by .

Add products.

b. Horizontal format:
(362 — 2b + 5)(5b — 6)
=  (Bb—6)—  (5b—6)
+ (b — 6)
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Your Notes @ checkpoint Find the product.

1. 2x2(x3 = 5x2 +3x — 7)

2. (a2 + 5a — 4)(2a + 3)

Multiply binomials using the FOIL pattern
Find the product (2c + 7)(c — 9).

Solution
(2c + 7)(c — 9)
=2c(_ )+ 2¢( )+ 7 )+ 7( )

Q Checkpoint Complete the following exercise.

3. Find the product (m + 3)(5m — 4).
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Your Notes LI Multiply ponynomials to find an area

Area The dimensions of a rectangle are x + 4 and
X + 5. Write an expression that represents the area
of the rectangle.

Solution
Area = length « width Formula for area
of a rectangle
= ( )¢ ) Substitute for

length and width.
= Multiply binomials.

= Combine like
terms.

CHECK Use a graphing calculator

to check your answer. Graph

Yi = and

Yy, = in the

same viewing window. The graphs
, S0 the product of

X+4andx + 5is
\.

0 Checkpoint Complete the following exercise.

4. The dimensions of a rectangle are x + 3 and
X + 11. Write an expression that represents the
area of the rectangle.
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Your Notes Solve a multi-step problem

Walkway You are making a aft

a walkway around part of T

your swimming pool. The 18 ft

dimensions of the swimming l

pool and walkway are shown xft

} 25 ft }

in the diagram.

* Write a polynomial that represents the area of the
swimming pool.

* What is the area of the swimming pool if the walkway
is 2 feet wide?

Solution

Step 1 Write a polynomial using the formula for the area
of a rectangle. The length is . The width
is .
Area = .

Step 2 Substitute  for x and evaluate.
Area = =

The area of the swimming pool is

0 Checkpoint Complete the following exercise.

5. Swimming Pool Your neighbor ot
has a walkway around his -

entire pool as shown in
the diagram. The width of 2 |
( N . ;
Homework the walkway is the same J
on every side. Write a 42428 ’30f’ : Tt
1 t 1

polynomial that represents
the area of the pool. What is the area
of the pool if the walkway is 3 feet wide?
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